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AUA = AFAAHFS] +10%, FAH = B3E(55~65%) @ @A (7~20%) : AW (15~30%)

1gF AU A] (kcal) &= ©F3E 4, @A 4 X 9kcal 2 FH4F
T HA AFHFL €8d5H SoU7A 9 dSFe HAYYr}.

A5 o
1) A v, =, A Agehe /AT (e
2) wiE: A, Zdo], MAX, ¥R, wF=HA 7t
3) AF7ME wFA, FHEo], wEAA, wFx ‘
4) F/FNEE FEF, A, TS5l AR
5) Wl e, Hof T Axg AL A9
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STI9% soz | son | ans ot oot sorz oot ot
emEau(g) | 0.46 | 0.57 0.8 0.5 1
HIEH2IC(mg) 26.56 33.40 23.3 19.3 27.2
Z&(mg) 247 .41 297.41 225.2 222.1 228.2
HEZ(mg) 3.62 4.60 4.6 5.0 4.2

ol A= PAAFHEFY] +£10%, FAH = @3S (55~65%) 1wl A (7~20%) : A H(15~30%)
x 1gF AlY A (kcal )&= ©F3tE 4, @z 4, X]”P 9kcal & 3HAF
* = Ha AHEFS 4oYFH :LELC"W}XH FEEFe Hdyt.

w A 5
1) & , TeA AREEE A/ AV E (R = A, dn], Sv) 2 HAS X3
2) WS w3 R], Z-o], M, BN, wjFA X 7ME R ‘éoﬂA}%o} Hlj 5=/ L Zh o) vl 5= /-5 vl 5
3) AE7FE WA, FA-o], BAALA, wlFAA I E sl AFEste LEVHE
4) F/F7VEE FER, FHA, Fage AMgskE F/ 3R
5) WHl: e, Ho] T Axg AL A9
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o] Xt =1

oo AT B N e Hore Hore orore: orore: EEE
ez | a3y | s

2(mg) 3.6 | 4.60 5.4 7.0 3.7

*

oy = AdEAZF] £10%, 781 = ©58FE(55~65%) @ S A (7~20%)  AH(15~30%)
163 YA (kcal)E @532 4, whwld 4 A4} Okcal &2 A
F A3 AFHEE AR FRAVMA 9 ke HaFPY .

* %

*

215 AAA]
1) 2 =,
2) Wi w4
3) A7 5 H
4) F/F7VEE TR, FHA, Fagel AMgshE /3R
5) WEl: SE, Fol 5 dxd A2 A9

¥ 2023.7.1.5-F 25~29% F7F( THAH A Al Al3x)
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